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201 Y8t 2 Ay 1,200 200 0
01 At 22l 1,200 200 0

O1 getag| 1,200
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1,200,000 * 144 1,200
202 01| 3,600 1600 0
01 2U ol bl 3,600 600 0
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GHMESESES 24,400 520 19,880
201 Lpte | 2,600 1600 0
01 At 22l 2,000 ,000 0
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DOMMSE REIH S 2,000,000 14! 2,000
02 22| 600 600 0
O1 2222 < HAl 600
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2 50,0002 *1C + 122 600
202 01t 1,800 1920 A 120
01 22U ol bl 1,800 1920 A 120
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150,000 128 1,800
207 1) 2yl 20,000 0 20,000
EEEET 20,000 0 20,000
OOFMME 2SR AAAMEHEA
20,000,000 * 14} 20,000
OFMSZ0l o8 Do 24 X 78,107 0 78,107
< 23,432
Al 54,675
301 et &2 78,107 0 78,107
< 23,432
Al 54,675
1JIE2a2 78,107 0 78,107
OOFMSE I K| 78,107,008 14! 78,107
= 23,432
Al 54,675
OFM S ST aH0IE A 65,264 0 65,264
= 32,632
< 6,526
Al 26,106
402 QIR TH2 01 & 65,264 0 65,264
= 32,632
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OXEINE HE=+=3 500024024 *123] 2,400
o222 MH 500,000& »23] 1,000
OHXXMsLFANEA =2
4,000,000& =14 4,000
02 =224l 35,000 35,000 0
O1 22232 2 HA 35,000
DEZNERE s ENDAN 2S 35,000
o &JII=Z2 250& x40,0002H »23] 20,000
O=E= 250% *30,00021 23] 15,000
202 O4dl 2,400 2,400 0
01 =L 4 Hi 2,400 2,400 0
OBAMHLLYS F4 U MLy S
200,000& 122 2,400
MEHH RS HAHAMD(BX) 75,090 0 75,090
< 22,527
Al 52,563
206 T 24 3,000 0 3,000
< 900
Al 2,100
01 M= 4l 3,000 0 3,000
OdEHH RS HMH AlBAL 3,000
DAZE ZHI(R, diJl §) 7L
3,000,000 » 14 3,000
< 900
Al 2,100
401 Al HIZ 2018 72,090 0 72,090
= 21,627
Al 50,463
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2 540,811 1,009,623 A 468,812
< 7,997
Al 532,814
OLECHE ot&E4A JtRJ| 501,511 437,164 64,347
< 7,997
Al 493,514
35 & 201384 R 409,916 402,164 7,752
201 Let249] 73,200 73,200 0
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SSaEA e ¥ 2eidl XEAMY 21,595 5,000 16,595
< 7,997
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Helot=HMelAld 22| 39,300 572,459 A 533,159
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01 At 22l 1,632 1,632 0
O1 g2t 1,632
DRIt HMelANE =EHAM =2
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OJN=2 s AId NEEA 230,000& x12& 2,760
207 SO0 £ 20,000 0 20,000
01 A 20,000 0 20,000
Ok 2 HatxzdX +ASBL42 AN
829 20,000,000& = 14! 20,000
=HESAEA 53,325 64,178 A 10,853
2= A QAP 53,325 64,178 A 10,853
MEXEN 28t =5 MEl 2LIEE 6,000 20,000 A 14,000
207 I & 6,000 20,000 A 14,000
01 A2 E<H| 6,000 20,000 A 14,000
OMBXHNU 28 =ZTMEf 2ULIHE
6,000,000 =14l 6,000
H =S A& 22 15,375 18,308 A2,933
201 LBt Y| 9,111 10,244 AN 1,133
01 AP 22| d| 600 600 0
O1 t==H| 600
DNEE2 EMIE 50,000& 10~ 12& 600
02 222494l 8,511 9,644 A 1,133
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DHAQAM X ESH=XS ANSKHA S 2
S22 % HA 763,000 *1 763
O4 Xy - ABHH| 6,867
DASAH (EAEMY XSS
6,867,000 «1CH 6,867
202 04| 5,160 6,960 A 1,800
01 2Ll 5,160 6,960 A 1,800
OH =&AL NEEZE L oI
430,000& ~12& 5,160
206 M = Hl 1,104 1,104 0
01 XHZ H| 1,104 1,104 0
OFZHIAMNE 22U (3T)
92,000 128t A 1,104
H=sE 2SAIA 22 22,160 16,080 6,080
201 et 10,480 6,080 4,400
01 AFR 2t 2| bl 2,800 2,800 0
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PH=E=2 SSAIE AEsS 22l
400,000& #7H 2 2,800
02 =224l 7,680 3,280 4,400
O1 22232 % HMA 1,080
DAL ASAE HILRS
15,000& 6 2 +123 1,080
O3 A& EHl s Xt 6,600
DAUIEASAE BHE WH 300,000 224 6,600
202 044l 1,680 0 1,680
01 SLHOYI 1,680 0 1,680
HESSSAME A2 € 2EAXMe
140,000 =123 1,680
401 A& HIZ 2018 10,000 10,000 0
01 A& HI 10,000 10,000 0
H== SSAE 252l
10,000,000 * 14! 10,000
FE2Z AL HHsHE 7= 8,350 8,350 0
201 Let24] 6,350 6,350 0
01 At 2t 2l 5,750 5,750 0
O1 Let==EH| 4,750
DEIMD HIIS FISHE =2
500,000& »23] 1,000
PAZQUAND WANR SHE%E
125,000% »23] *4 4 & 1,000
DAL LUADE 2 (BHES 2 5
E) 500,000& » 14 500
DI AL XM A
90,000& *521 x53] 2,250
O6 Itz 1,000
DaAIADME FH 2=
500,000& *22| 1,000
02 =224l 600 600 0
O1 2323 2 HMA 600
D AXCE FUHES 23
50,000& 10 =122 600
206 M= Hl 2,000 2,000 0
01 M2 4l 2,000 2,000 0
+HQAAND LH ME(E=s, =X, d©
A 8) 2,000,000& 14! 2,000
THSE =S A &3 2el 1,440 1,440 0
202 04l 960 960 0
01 SLHOYI 960 960 0
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HE: +RBRRH
el AR YYX CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJ=MEX sF2e| =N
80,000& 123 960
206 M= Hl 480 480 0
01 M= 4l 480 480 0
OFMIMSX 253 =2AAM H+=ED]
24,0003 204 480
ANHMERH SH 63,600 63,600 0
MERH 25 63,600 63,600 0
OMSETHES 63,600 63,600 0
201 Let24d] 600 600 0
02 232gHl 600 600 0
O1 3322 ¥ HA 600
DRIAMESE FHES SR sUHES
23 50,000& x1CH 128 600
301 et d = 63,000 63,000 0
1MIIEBELSS 63,000 63,000 0
OOMESURES D P43
2,000,000& =14 2,000
ORdiIdsSES X243 61,000
>letl ZEEE 4= 30,000& =1,7000t2/ 51,000
DO ZE SN 50,000& 2000} 2| 10,000
HREs(s2dn) 2,750,000 450,000 2,300,000
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1,400,000, 000 14 1,400,000
HY2IZH (BF D) 187,853 176,507 11,346
< 23,300
Al 164,553
ol 2y (28 ) 136,133 130,667 5,466
< 23,300
Al 112,833
ol 2yl (st&Z ) 58,466 55,000 3,466
101 14 dl 58,466 55,000 3,466
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